2.6.1
2.6: Related rates

General idea for solving rate problems:

1. Draw a sketch if applicable. The only dimensions you put on your sketch should be those that do

not change.

Write down, in calculus notation, the rates you know and want.

Write an equation relating the quantities that are changing. (-\—\,\9_ chucw\ﬂ\ teS 1A ‘H\L \Z\Mw ang
Differentiate it implicitly, with respect to time. Wound-
Substitute known quantities.

Solve for the required rate.
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Example 1: The radius of a sphere is increasing at the rate of 2 inches per minute. Find the rate of
change in volume when the radius is 6 inches.
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Example 2: A conical tank (with vertex down) has a diameter of 10 feet at the top and is 12 feet deep.
If water is draining out at 10 cubic feet per minute, what is the rate of change in depth when the water is
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Example 3: A ladder 25 feet long is leaning against a wall. The base of the ladder is pulled away at 2
feet per second. How fast is the top of the ladder moving when the base is 9 feet away? What about when
it is 24 feet away? Ay + 9 /s
KNBUO - o\k B

e

P

A \«)ow(k'
/R Wrant L= I a i LA

+
o & w oo
Need eaD«\ VQ&O‘L )
’)( s \,\ - @5‘*\\
,X"?_ " W = L5 Q—k
—— o\ S ¥4 3
\ 1-\ 3’L= 'Lg— 1S ki o ﬁ 2N ——
~ S t’L %t = S ~ W = Gl6= 625 %kf\ {*—_\'\Q - dt
\E =S4 Wz &9 A N da _ _ 2Lt
3\ »\__ m 24 \“-;’( -5% = = Z\l\ ok n d‘b
Example 4: A particle is moving along the parabola y* =4x+8. As it passes through the point (7, 6) Py
its y-coordinate is increasing at the rate of 3 units per second How fast s the x-coordinate changing at Z Y
this instant? Vﬁ = A (,x_k 7_) o~ ~” A
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2.6.3
Example 5: A 6-foot tall man walks away from a 30-foot tall lamppost at a speed of 400 feet per
minute. When he is 50 feet away from the lamppost, at what rate is his shadow lengthening? How fast is

he tip of his shad ing? N ;
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Example 6: At a distance of 50 ft from the pad, a man observes a helicopter taking off from a heliport.
The helicopter is rising vertically at a speed of 44 ft/second. How fast is the distance between the

helicopter and the man changing when it is at an altitude of 120 ft?

??_4& \Aw %: = ‘\' A(A\‘Psf/ﬁe(,
L;E
\Tlﬁ

A e gl
e o Vo T

Q




E\A 6 Caﬁ'\&'.

PYVEENY) RN ¥
ST=% " &

o c L
T‘I’—Awo%/m\f\ﬁ 5% _ boo® 0 FL

A‘_é_t_- — '¥f \
AL 400 Tl

MR W
oy A _ Mo
okk & at.

&y

koo®y, <o T =

oW o s
'—OTE - ~ 60 %{Mlq



